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A2 AHTE=R SN EXNRIYYR
M ENRA(MY - SAIH/MHTE - DE3)
el EURIgs (Sl & &)
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
301 et d = 64,800 75,600 A 10,800
NJIEEd=s 64,800 75,600 A 10,800
OFXNRX 29 =H 64,800
Ol&J1IeYy MBI 12,376,000 10,895,655 1,480,345
Xl 9,393,000
< 2,983,000
+CdA 0MIY BXE2 NA(=1) 10,958,000 8,395,655 2,562,345
Xl 9,393,000
=) 1,565,000
403 UtXISHH S0l & 10,958,000 8,395,655 2,562,345
Xl 9,393,000
=) 1,565,000
01 AXISHHA=2E = 10,958,000 8,395,655 2,562,345
O0l&IIY BEX3 10,958,000
Xl 9,393,000
< 1,565,000
EtAIE O1&DIY BEX3 K& 1,418,000 2,500,000 A 1,082,000
403 XIS E X201 E 1,418,000 2,500,000 A 1,082,000
01 AXSHHMA2E = 1,418,000 2,500,000 A 1,082,000
OEBEANZ 018 BEx3 XNE 1,418,000
Y ¥ 2HELE XNE 27,000 27,000 0
SE&E 322 29 27,000 27,000 0
201 Let24d] 27,000 27,000 0
02 2324l 27,000 27,000 0
OZZLg2AcFEY 29H 2E23 27,000
S0 ZH (MY - SAIY/MHAE - DE3FH 5,771,600 9,897,026 AN4,125,426
= 300,000
Xl 5,430,000
< 41,600
AHET Zd e 5,771,600 9,897,026 AN4,125,426
= 300,000
Xl 5,430,000
< 41,600
NEEs s =4(=21) 1,039,000 700,000 339,000
Xl 1,039,000
403 Ut SHHSA=0l& 1,039,000 700,000 339,000
Xl 1,039,000
01 X SHHMA=LE L 1,039,000 700,000 339,000
Ed EAHSSEHA ==IIEAIE FH] 200,000
Xl 200,000
OFd FESSHA ==IIBAIE HH] 50,000
X 50,000
OZE =2N=3CX SHIIBAIE H| 150,000
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A= AEAER 2A  EXNRXEE
HM: EXI|E DAL (ALY - SADY/MARE - DEF
el ARIGHT] ZA B CER-ED
- _ _ RE]
AT SA B O (3H) - MEAY - BES Ol At 04 %Eﬁ HR=2
Al 150,000
OFEHE HAd=s=2HX “FIIEAIAE A 78,000
N 78,000
Oxzx HEsSHX =FIIEHAIAE A 100,000
Xl 100,000
OEHM AQQUSZCX LSIIBAIE &Y 97,000
N 97,000
OFNE BSMsSHX =FI|IEHAIE A 150,000
Xl 150,000
OEF 2U=Z2CX =FIIEAIAE A 214,000
Xl 214,000
AHCX K& 41,600 48,026 NB,426
201 LBt Y| 20,000 20,000 0
01 AP 22| d| 20,000 20,000 0
OAMATLHTHEAAK] G 29 20,000
202 044 21,600 28,026 ANB,426
01 2LHOI I 21,600 28,026 £6,426
OAHER K& g2FXN 21,600
AACT] 2L HAE(=2D) 4,391,000 9,149,000 AN4,758,000
Xl 4,391,000
403 XX SHS K201 & 4,391,000 9,149,000 AN 4,758,000
Xl 4,391,000
01 XIS A=2E X 4,391,000 9,149,000 AN4,758,000
=& SY ABAACHT] 2,000,000
N 2,000,000
OLE SH AT 928,000
Xl 928,000
OFES EcIX0F LBHAACX] 1,463,000
N 1,463,000
LS AMACT THMAIS (=2D) 300,000 0 300,000
= 300,000
403 XX SHS K20 & 300,000 0 300,000
= 300,000
01 XIS AZ2E X 300,000 0 300,000
OFZABLAACHT] THAAFS 300,000
= 300,000
SES TRHME A (ZELXAML /AL AI) 11,997,400 12,201,400 204,000
Xl 3,800,000
= 8,197,400
DIHXIEEX HEZA s4_F 8,000,000 10,000,000 A 2,000,000
/FIYGTA LTI A 8,000,000 10,000,000 A 2,000,000
401 AlEHIZL 2 0HY| 8,000,000 10,000,000 A 2,000,000
01 Al&H| 7,625,375 9,600,000 AN 1,974,625
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AR FRAE= SN EXRRALYB
HHM: SER TRFME JIASH2ELR IR /AL Al)
S DIAHXNSEH HEZA 4_F (2 &HH)
- _ _ RE]
2.2 HE B (EH) - NEAY - BES Ol At 04 %Eﬁ HR=2
OXAET2(XNLE 4095) Al&H| 7,625,375
02 22l 344,625 370,000 N 25,375
OXATZ2 (XL E 4095 ) 22l 344,625
03 AlE 201 Y| 30,000 30,000 0
OXAET2(XNLE 4095) Al 2| 30,000
OIeH KNS HEZA 4 3,610,000 1,812,000 1,798,000
N 3,600,000
& 10,000
YA HA 10,000 12,000 A 2,000
201 LBt | 2,000 2,000 0
01 AP 22| d| 2,000 2,000 0
OJYEZAl HE E2FA 2,000
202 044 8,000 10,000 A 2,000
01 2L Y| 8,000 10,000 A 2,000
OJIEEZAl HE 2FA 8,000
AFIHT Al JIBHAIE X (=Z1D) 3,600,000 1,800,000 1,800,000
Xl 3,600,000
403 XX SHS K201 & 3,600,000 1,800,000 1,800,000
Xl 3,600,000
01 XIS A2 X 3,600,000 1,800,000 1,800,000
ORUEZ2(2E7S) WA 3,600,000
N 3,600,000
SANEA A4 2 2|2 0l 387,400 389,400 A 2,000
Xl 200,000
& 187,400
SNEA AL HAX S 12,400 14,400 A 2,000
201 LBt Y| 4,400 4,400 0
01 AP 22| H| 4,400 4,400 0
OSAMTAl e ARER 4,400
202 044l 8,000 10,000 A 2,000
01 2L Y| 8,000 10,000 A 2,000
OSATA HE Z2FXN 8,000
SHATA ASEH SXXRFAEH N (=2D) 375,000 375,000 0
Xl 200,000
= 175,000
201 gBt2Ay| 217,200 208,900 8,300
Xl 108,600
o 108,600
01 AP 22| H| 62,200 69,900 AT7,700
OSSN Al dEtH SIXNHAEH 2H 12,200
N 6,100
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D AHTE= SN SRR

SET gy
B SEH2 TRME AN (SELNIANL/XNALEA)
S9l: SATAl A& Y BIIIB O CERED
224 - BB SAEH) - MPAY - BES 0l &t o il HREZ
=) 6,100
OEES MZ(HX, JI83, SAPT M) 25,000
Xl 12,500
< 12,500
OO0ld33J12 LCO F&a&D 25,000
Xl 12,500
& 12,500
03 & Ar2 I 155,000 139,000 16,000
OFEN=X £FH3 Mzl 60,000
Xl 30,000
< 30,000
OXS3 LeEre3 A 20,000
X 10,000
< 10,000
OSATA B X289 UL M52 AH
2435 TFE 29 10,000
Xl 5,000
=) 5,000
OOIEXIEE2a & o/&II2 /38 Mzl 35,000
Xl 17,500
< 17,500
OO0IEE3IN& Jlsz2g NAMTHA & I
g 2 MOt JH=l 30,000
Xl 15,000
< 15,000
202 44l 10,000 10,000 0
Xl 5,000
= 5,000
01 SLHOIYI 10,000 10,000 0
OSHAMEAl gtstHd SIAUXNJEEH AL F2 10,000
X 5,000
=) 5,000
301 et &2 2,800 2,100 700
X 1,400
< 1,400
09 AL HI BN = 2,800 2,100 700
O0ldJI & as % e S FIA AHlE
A 2,800
Xl 1,400
=) 1,400
307 21201 & 70,000 45,000 25,000
X 35,000
< 35,000
02 HAHFHYANEEX 20,000 10,000 10,000
OO0IXHIR X2 THHEY UHASHS =22 20,000
Xl 10,000
S 10,000
04 QIZ2HEHALALE B £ 50,000 35,000 15,000
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4= ISR SN EXNRISYB
A REHE DZEHE JAHIFELXIML /UL Al
ool HAGA A& 2 BB O CER-ED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0l &k o4 e HlnE2
O0IEz3712 dAF L NIFAFL WF 50,000
Xl 25,000
< 25,000
308 XXIEHHSOIA 75,000 75,000 0
Xl 50,000
= 25,000
01 AXHHILEES 75,000 75,000 0
OSHAMEA 43t & ol&II2 KR 75,000
Xl 50,000
= 25,000
HYLRIZH (FENREL2)(IIEH/DIE) 40,200 44,200 A 4,000
Jl=&l 40,200 44,200 A 4,000
2A2Y JI23tl 40,200 0 40,200
201 2et2d]| 26,000 0 26,000
01 At 2teltl 26,000 0 26,000
ORA2Y AtR2eltl 26,000
202 O4dl 10,000 0 10,000
01 = LH 4 Hi 10,000 0 10,000
FN2E =LY 10,000
203 YR =&t 4,200 0 4,200
04 NI 4,200 0 4,200
©302! Ol ot 350,000& 128 4,200
Heas(EURIEgE2)(Les3d8y/2edd) 451,233 0 451,233
HEHHK S 451,233 0 451,233
ANEXGMLI S0 === Ol K&k & 451,233 0 451,233
705 =32 cl 34 451,233 0 451,233
04 Al - S X SINLI S0 =30 A&kt 451,233 0 451,233
OFFINHEA HYEZ HE 451,233
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